Printed Pages — 7

NJ-1191

B.Com. (Part - I) Examination,

Mar.-Apr., 2023
Paper : |

BUSINESS MATHEMATICS
Time Allowed : Three Hours .
Maximum Marks : 75
Minimum Pass Marks : 25
G i B s AR ol e b o e &
Note : Answer all qUestions_.' All questiéné carfy equal |
marks; DN |
. geE-I/UNITI
Q. 1. a’rmﬁs‘l@rmm4wa€rmésgﬁ_
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Tw0‘numb¢rs are such that 4 times of the

smaller is 5 less than 3 times of the larger but |
sum of the numbers is greatef than 6 times their

difference by 6. Fin'd the numbers.
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What is linear programming ? 'Descripe

the

importance of the word ‘linear" in this connectjo,

Q. 2. (a)

(b)

gare-1I / UNIT-II

102
az A=|0 2 3| @ B=

12 3 qa
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3A + 6B + 21 & °9F §aRd|
10 2 3
IfA=|0 2 3| and B=|1
1.2 3} ° 0
find 3A + 6B + 2L
TGS AR & T A qH o S 7
(3.678)" '
(42.77)"

1 1
23
2 2

tables -

F' "
nd out the value with the help of log.

(3.678)"
T
(42.77)"

(3)
3irar / OR

ARl |a b ¢l @ A am @i

1 1 1

Evaluate the determinant (@ b cl.
a® b’ ¢

gHE-111 / UNIT-III

Q. 3. 5% dd @ & I 432 3. 50 4 W 6 @4 & oF

Tt s B o Sl afk @S @ T
sE-aie & ST € o T 3R UST 2
Caléu!ate compound interest for 6 years on Rs.
432.50 @ 5% p.a. What difference will it make it
interest is calculated half-yearly ?

3yar/ OR
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Calculate the amount and present value of an
annuity immediate of X 2,000 for 10 years, i thoe
rate of interest be 5% per annum.
@R-1V / UNIT-IV
(@) ﬁmﬁmﬂmmwﬁm%é\qﬁ
81 6 T @ I I T B3 o 4
&l 6 oo & wER TS g B S gy
& ? |
At present father's age is thrice than that of
his son. 6 years back his age was four times
than that of the son. What will be the ratio of
their ages after 6 years ?
©) 15 s foxr w @ 12 o o o 14
W Sd & o 21 ard 10 ol s BT
T W fw R s
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(5)
15 men plough a land in 14 days working 12

hours daily. How many days will be taken by

21 men to plough the same land, working

10 hours daily ?
Figar/ OR

(a) Gmﬁiﬁfaﬂﬂam7aﬁélaﬁmﬁm
ﬁ‘mﬁaﬁ%é’rma’rsﬁqﬁmsaﬁa@

sy &1 Rrr B 3ng @l
The average age of 6 children is 7 years. If

_ their father's age is taken into account the

average age increases by 5 years. Find out

father's age.

(b) o B T 120 3. ol a8 ggax 150 B &

nmlmhﬂﬁm#uﬁma@q’r‘zﬁrré?

The consumption of milk was T 120. lt was

increased to ¥ 150. What is the percentage

increase in consumption ?
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Q. 5 frex due @ Ak i W 5% 3R FUR fig)
4% o far s &1 afd 50,000 WA )
fod w3 2,400 ©. A T E A TR wg . |
R & i wa Sl |

Mr. Deepak is paid commission of 5% on cagp,

sales and 4% on credit sales. If on a tota| sales

of ¥50,000 he is paid X 2,400, find the amount of
cash and credit sales.

3ar/ OR ,
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s | M| M My M| R

G |

W, 21 16 15 | 03 1

Wo [17 | 18 | 14| 23 | 13

w

[ s [%2 | 27 |18 a1 | 19

[ 7 05 | 10 | 12|15 | 43
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(7)

termine an initial basic feasible solution of

the

following problem using Vogel's approximation

NJ-1191

method :
_——’"1——“——1
Market | M, | M, | M M, | Supply
Ware
W, 2 | 16| 18| 03 1
W, 7| s | 14| B3| 18
18 | 41| 19
A 32 | 27
T | 10 43
: 0] 12| 15
| Demend | @ | [ G
_—
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